
1. Îé¹èü× ·ð¤ Ÿæ× çßÖæÁÙ çâhæ‹Ì ·¤è ÃØæBØæ
·¤èçÁ°Ð

Discuss the Durkhiem’s theory of division of
labour.
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2. ×æ@âü ·ð¤ ¥çÌçÚU@Ì ×êËØ ·ð¤ çâhæ‹Ì ·¤è ÃØæBØæU
·¤èçÁ°Ð

Discuss the Marx’s theory of surplus value.

3. ¥æñlæð»è·¤ÚU‡æ ·ð¤ âæ×æçÁ·¤ ÂýÖæß ·¤è çßßð¿Ùæ
·¤èçÁ°Ð

Discuss the social consequences of
industrialization.

4. ÖæÚUÌèØ ©Ulæð»æð´ ×ð´ ·¤æØü ·¤è Îàææ¥æð´ ·¤è çßßð¿Ùæ
·¤èçÁ°Ð

Discuss the working conditions in Indian
industries.

5. ¥æñlæðç»·¤ â¢»ÆUÙ @Øæ ãñU? ¥æñÂ¿æçÚU·¤ °ß¢
¥ÙæñÂ¿æçÚU·¤ â¢»ÆUÙ ×ð´ ¥‹ÌÚU SÂcÅU ·¤èçÁ°Ð

What is industrial organization ? Differentiate
between formal and informal organization.

6. âæ×êçãU·¤ âæñÎðÕæÁè ÂÚU °·¤ çÙÕ¢Ï çÜç¹°Ð

Write a note on collective bargaining.

7. ÖæÚUÌ ×ð´ ¥æñlæðç»·¤ çßßæÎæð´ ·ð¤ ·¤æÚU‡ææð´ ·¤è ÃØæBØæ
·¤èçÁ°Ð

Explain the causes of industrial disputes in
India.
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8. ÖæÚUÌèØ Ÿæç×·¤æð ´ ·¤è Âý×é¹ â×SØæ¥æð´ ·¤æ ß‡æüÙ
·¤èçÁ°Ð

Describe the main problems of Indian
labourers.

9. çßßð·¤è·¤ÚU‡æ ·¤è ÂçÚUÖæáæ ÎèçÁ° °ß¢ §â·¤è
çßàæðáÌæ¥æð´ ·¤æð ÕÌæ§°Ð

Define rationalization and its characteristics.

10. ÖæÚUÌ ×ð´ ÒÕæÜŸæ× â×SØæÓ ÂÚU °·¤ çÙÕ¢Ï çÜç¹°Ð

Write an essay on ‘child labour problem’ in
India.
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